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SECTION -1
qug - |
CHILD DEVELOPMENT AND PEDAGOGY

T -fawra ua fyreror fafiat

There are 30 questions in all in this section.
All questions are compulsory.

9 @8 H§ A 30 WY ¢ |
|/ W99 37fqard ¥

1. The theory of learning proposed by Albert Bandura is
(A) Classical conditioning theory
(B) Cognitive theory
(C) Insight learning
(D) Social learning theory

AT T-g11 §RT TdATad 3ty =7 fagr &

A) I YA fag (B) HHHIES fagr

(C) Iidghe HTH D). g AT e
& How many personality factors are proposed by Raymond Cattell ?
(A) 05 (B)= [ 14
C) 16 (D) 08
qUE e gRT fhdd &fthed R Tedifad fod T € 2
(A) 05 (B) 14
dC) 16 (D) 08
3.  Which of the following is not included in Maslow's hierarchy of needs ?

(A) Physiological needs

(B) Individualism and collectivism
(C) Love and belonging

(D) Self actualization

=1 o | H9-91 Ol HI AEIISATS & USHHH T GEHfAd @ & 2

(A) T EvgHand (B) AR T THRE
(C) & Uy grEgdl (D)  ATHTElg
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Two opposing desires present in an individual at the same time 18 call€
) : (B) Frustration

(A) Conflict
(C) Anxiety (D) Pressure

l waﬁﬁﬁ@mmﬁfaﬁﬁmﬁﬁmmﬂ%
() (B) FT

| € Fa=m (D) T&E

5.  Which of the following researches is associated with Stephen Corey ?

(A) Basic research (B) Behavioural research
J .
E (C) Scientific research (D) Action research
" SreffefEd § @ S-a1 SEYE @ik R 8 FEd € 2
(A) IURYA AU (B) HIBRIHS HTHH
(C) aFA® JEUH (D) TRarcHe U
6. Remedial teaching is used for which kind of children ?
(A) Fast learners (B) Slow learners
(C) Gifted children (D) Creative learners
SUARTcHS TTe1o f6g YR & acTehl % [61d W aidl & 2
f (A) Ot § "rEH ared @) um dEd e
' () wfaurere s (D). TEATCHhAT | 9@ a1

7. Playway method of teaching is based on

(A) Theories of methods of teaching
(B) Principle of growth and development

(C) Sociological principle of teaching
(D) Physical education programme

fereqor &1 weres fafy fva fagra w emurf@ ¢ 2
(a) Tereror i fafugt & fagr

4B) g 3R fawrg = fagr=
) foeor & gasvreta foer
(D) ¥R forenm shrdepny

=

L 7z [N o-@
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8. Who was the Chairman of National Steering Committee on NCF, 2005 ?

(A) Prof. Kothari (B) Prof Mehrotra
(C)  Prof. Yashpal (D) Prof. Ram Murti

. & TF., 2005 B UL Reafon winfa & smoms @9 o

(A) J. HRRI B) Ui HETE

=

J.'rd-ﬂ-

(C) I IR (D) . T giq

9. RTE Act, 2009 is for the children of which age group ?

(A) 5-12 (B) 12-18
(©) 7-15 D) 6-14

R 213, stfufam, 2000 fFg 3y Tog % aw & fod § 2
(A) 5-12 (B) 12-18

© 7-15 - D) 6-14

10. Which of the following is not a physiological motive ?
(A) Achievement (B) Hunger

(C) Thirst (D) Sleep

FEATARE@d J § $iH-91 e 390 et & ?

J R B) @

(C) @I (D) A
11. The psychological basis of teaching-learning depends on

[A] Teaching style (B) Course content

(C) Language (D) Soclo-economic status

ToTequT- 3T &7 TS YR fFg W MR Far ¢ 2

() 3T el B) fawg-ax
(C) ST (D) G- 3 TR
77777 | WWH I EETER [444] 1-® P.T.O.
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tio for primary schools

39 %A

30 1

SRA L, s, 2000 F FER WAl fqaer & for famrl-STAN SFE

12.  According to RTE Act, 2009, the Pupil-Teacher ra
should be
(A} 25: 1 (B)
(C) 40:1 (D)
g1 =fed
(A) . 25:1 (B)
JC) 40:1 (D)
13. 'Midterm Exam' is an example of
(A) Creative Assessment
(B) Norm-referenced Assessment
(C) Summative Assessment
(D) Diagnostic Assessment
‘mgrafy qeTr’ U 3REL0T ©
_A)  TGATHS Hodlehd &l (B)
(C) INTcHS: Hodish— hl (D)
14. Which disease is hereditary ?
(A) ADHD (B)
(C) Parkinson's (D)
hIH-HT T AT & 2
(A) UELUHEEL (B)
(C) URF~a (D)
15.

(A] Bhatia Battery (B)
(C) WAIS (D)
77777 | TN (444

35 1
30:1

HAUs-Gei9d Jodreh-

A1 Hodieh I

Phenylkitonuria

HIV-AIDS

IATSEATh AT

Which of the following is a performance test of intelligence ?

Rorschach test

Raven's SPM
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)  wfemr 325

(B) 9T qIOT
(C) T=.U.3muy. (D) @F F1 UTE.9om.

16. "Human development goes on

but the order of develo * |
pmcnt remains € 1n al ' - . . :
of development does this m— sam normal children.” Which principle

ment point to ?
(A)  Prninciple of continuous development

(B) Principle of interrelationship

(C) Prinaiple of uniform pattern

(D)  Prninciple of general to specific responses

“graa fawrs mmmi,mﬁmwaﬁiﬁi.ﬁmﬁm
mnhmmmqmmmh“ugmm%hmfmaﬂmﬁém
FIATR )

(A) T fawm e fagin @y wrew day o foaia

) wuE gfaEn & fagia (D) e & fateee sifranst @ fagia
17.  Which is the final stage of Cognitive dradda: cording to Jean Piaget ?
(A) Senson motor stage (B) Formal operational stage
(C) Post-operational stage (D) Concrete operational stage

WA foara & sqen dyeras s # st sawn aYa @ ¥ )

(A) HafrE qeiE s MB) A dEaaTE s
(C) I d@waiF waw (D)  HA #@FEaE Hae
18. The Father of Geneucs 1s
(A) Gregor Mendel (B) Thomas Hunt Morgan
(C) James Watson (D) Charles Darwin
HHEVH F FF
AA) TR 9=« (B) 9IHH &< OTA
(C) T TTA (D) =eH 2Taq

77777 | L HHH das P.T.O.
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19. Who propounded the Psychoanalytical theo
(B) Sigmund Freud

ry of Personality ?

(A) Abraham Maslow

(C) Carl Rogers (D)  Jean Piaget

el 1 SRR et e dfaued faar & 2

(A)  STETRH HIEA 4B) fammug wEe
(C) T TTd | (D) A g
20. A 10 year old child has mental age of 12, then what would be his [.Q- ?
(A) 100 (B) 90
(C) 120 D) 110
T 10 qTT TTHF F WS A 12 § A IGH! fg-aAred g
(A) 100 (B) 90
=Y o 120 ' (D) 110

21. Which of the following is not a biological factor determining individual

differences ?
(A)  Heritability (Bj» =innate temperament

(C) Parent-child. relationship (D) Physical health

SfeTa R 1 i ® § F1 3 & F1-91 Afash HRE TEl € ?

(A)  STIETERT (B) ST WY
(C) STV -TeT Fr (D) YIRS @rey
22. The cause of Down's syndrome is
(A) Trisomy-20 (B) Trisomy-21
(C) XXY chromosome (D) Trisomy-22

2137 GALIUT T FHRUT &

() FrTgEET-20 B)  FpREE-21
€ X I3 (D)  PrEREEr-22

77777 | MW . [44a
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23. The concept of reliability refers to

(A)  Objectivity of instructions (B)  Purpose of measurement

(C)  Consistency of scores (D) Uniformity of scoring
faa=taar # R ¥ sy 3
(A) = Ft s (B) T ¥ 329G
(C) Wil F SR .© D) 7T F FHETAT
24.  Which of the following is not an example of projective test ?
(A)  TAT (B) SCT
(C) Draw a Man (D) MMPI
et 9 @ F19-11 9899 qdeor #7 39=0T TR T 2
a) AT B TEHA
o) guEA (D) T TH T
25. Who propounded the theory of multiple intelligence ?
(A) Howard Gardner (B) Jean Piaget
(C) Dawvid Weschler (D) Enk Enkson
TR-gis F Gga [ha sfquiiea fear 2
AA)  ETEE TER (B) i AT
C) Sfag FweR (D) TR TRHEA

4

26. . According to NCF 2005, the main goal of Mathematics education is
(A) Training of teachers |
(B) Classroom learning
(C) Mathematisation of Child's thinking

(D) Course content of Mathematics
. €.0%. 2005 F FER, 0T Foreqor F1 W@ ILVT €
(A) TeTeTRT =1 Ao
(B) TEITHE JHHIH
~«C) aToi® & g4 I 0TI

(D) TIfoTE i AsgEE]
77777 | [EEHE P.T.O.
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<7. Lea"“i“g through reward and unish ' hich
i | p ment is related to which theory
N (A)  Social learn: '
W o CT“HI learning (B) Operant conditioning
a - .. .
l| Ssical conditioning (D) Cognitive theory
| q”iﬁliﬁﬁﬂnm%wﬁﬂﬁwm%mmﬁmﬁm%?
1 (A
| EHIN dien B)  forar-ugd sravA
(C) ITHY 31 -
N HIYq (D)  HIHHS g

Which of the f; Ing i
¢ following is not process related to learning during childhood ?

(A)  Past eéxperience (B) Reflectio
n

(C) [magination (D) A
rgument

ﬁwﬁ—rﬁaaﬁﬁﬁq-ﬁmwm%ﬁmﬁ@ﬁﬁﬂmﬁwﬁ%?
@ 9Ty - (B)  ufgfaes
(©)  Fogr (D) &

(A)  Personalj
onality (B) ) Intelligence

(C) Achievement

TRehleqd o sy & -

(A) ey ) I |

30. At which Stage of develo
adjustment ?

(A)  Old age
(C)  Childhood

. (D) Infancy

fareTg mmﬁwaﬂ%ﬁmmamqﬁwﬁmwmmﬁa
(A)  FgTaE 4B)  TRIIRTERT

(C)  dETeATaE (D) oy ayereyy
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31, ‘sgreu-feor’ yoeht ® fa womett @ faga ww & grm’ goner ot FEd € 2

32. Fa9 oo uglaal § ‘wietae ugfa' & = wam & 89 fHEh € 2

@qug - 11
VTaT — ]

W @8 Y et 30 U¥A ¢ |
aft gy sfqard & |

JE)  TIS-ETH Somet (D) 3TTHA JOTeAl

AA) g AR feherdfeen B) Waed 3R =gy &
(C) THRI &I UThed hl (D) Tl e &l

33. "Mﬁmﬁﬁmuﬁammm|ﬂqqmd}ﬁﬁﬂmﬁaﬂf
T &, @ I¥ 7@ wer wfeT | TEd I§H faawl ° T ggEd € | 98 g § T
3I<¢ 98 § SToTshl ! ofd U] A 9iieq |
ITYH FYH WINTE S H fHgH € 2

(A) EIEHA & (B) hTeiZA o
AC) & (D) Eﬁ‘[ &1

34. W—W%W%aﬁﬁﬁw-mfﬂ%mqmﬂ%m% |
4A) G TR aRA YA § B WWH&TW%WW%I

| (C) 3TeAGH ¥ WA UE WA & | (D) WHA FH A AEE €
35. STT-ferefor ©§ UGN H=F-3¥E WHA €
(A) i‘%ﬁﬁ ‘ ~B) AT

(a) T 9ETE (B) 7% 9O
C) HHURT FHE (D) FesiitE FEH

37 ﬁaﬂmmm_@aﬁuﬁeﬁ'aﬁaﬁwmmﬂ%ﬁﬂm%

(A)  TRATTETES B) EAfEHaTaH

(C) HehddTds D) TUTETE
38. &rmﬁffﬁﬁﬁﬁ‘m’%?fmmmaﬁawﬁa%

{A] : ./(B] TRE

C) -~ (D) |

' -4 P.T.O.
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39. I oo @ A aemgy AR H61 91, T UF AR, AT 0F WA, AR
T I F g E
(A)  arrEd (B) ST
(C) W (D) HUZH

40. UM weray nindt g1 wataq ‘dfaew e’ & ow e fagia &
(A) =T famar qr a9 2497 |
AB) R F w47 wAnTeen | feradr &4
{C) Wm%mmnafmﬂwml

g | 9T mmwmmzﬁznmuwﬁm? W"mm
mawmmwmﬁnwmwwaaﬁmwﬂmw
Il € | HeHr & wmgmagmmmmma;mmwmﬂmw
mwmmwmawmaﬁﬁwmﬂﬂmmmm
W‘\’Tﬁﬁgﬂﬂﬁm‘—rwm%d{ HHQdE’E{WWgEWmWWI
mmﬁwwwaﬂ@mm | 4 & 9T W EHdTe STiad fagy,
ARFE AR &6 & TS T iy 78] A8 Wia FH HIAr 8 |
41. ‘' WK 1 wFFAE T

(A)  THS = &
(C) ¥HeA AD) R
42. ‘399’ 1 faeim &
(A)  HH | i
©) 3= AD)
43. "3 6T F forw fovan mar et i % forw o v ¥
(A) WWR (B) ?_‘Wﬁ
49‘ e (D) HAF=F
44, TgY’ = § IqqT
A ® o
) g & B
45. 'JAVIH’ V= § UG F 9ER ¥
po s B) dceN
(C) =EHe D) FHURZ
77777 | NN
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46. Fafeifad & @ #19-9F e # giregar & 9
(A) Y& adAr B) ToE
(C) Haerd . _(D)  3TrIrHTE

a7 gt sthamy g
(A)  g¥a T B)  FA-gwy s A
(C)  HeA 3T wr (D) 39 H a9

48, AT, VI UH ATEI-TTAT T T a1 o=t foreqor 1 -1 3ReE 7 2
(A) dﬁ“"—“f“‘q’ 38¥ (B) GoHAcHE 3294
(C) TS I D) TS YA

49. ﬁmm.aﬁmmmwﬁﬁm&m%aﬁMﬁm%ﬁﬁmﬁ

1 TgFT ITF A @ I TER R g9 | T8 A §

(A) qeIeATs feIty —4B)  HAIHIU fafy
() Toew faty (D) & Sigie & .‘.
50. wgiaEed, el TeAd, [T S AT, Rt v frm @ & g 59 wR & 9w
WG T ?
(A) THTL A¥A B) e U
4E) TS T (D) S FHF I

51. W%Wﬁaﬁaﬁamuﬁf”‘d*wqﬁq:
(A) Wﬁﬁwmﬂgl <
B) d HE T IFHT TH Ferd T |
C) aﬁﬂé@ﬁéwﬁaéﬁmm—ﬁ\ﬁﬁ@ﬁl

B) STH @M & THa Fdql
() 3qr TRt TSl S BN |
D) m@ﬁ@wmaﬁqﬁmﬁqm

eneeal | | LTTHT

P.T.0.
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“1 | (C)  JoT iy D) FarE d@ o ﬁkaraﬂ >
4 55. ‘Hﬁﬁm%%ﬁﬁrﬂmﬁﬁﬁwfwam
n (A) A A .o B) WA )
| (C) T® a1 (D) TR & At ?
56. 'mﬁmmﬁ'wﬁaﬁmmmmﬁm
(A) faumaTass 4B)  FOETES
(C) HehaTdeh (D) :ﬂkmlcnﬂch o
ﬁm%ﬁaawm%mmmu‘mwﬁﬁoﬂﬁa‘w . o G U o

hl &N

‘ T Ih t{PIWﬁW
WW%QﬁdmﬁqwaW:rﬁ%1Fa1§°r§§a1ﬂ1ﬁrdﬂ'“i°* 1 - e
J TR HH T AH AT © uw@ﬁ-wﬁmﬁﬁwﬂﬁw e

I1feq |
57. ‘g’ &1 SiferT @
(a)  Hfest 8 fag
() T D) fegEr
58 e, dgadd &1 Tel JH € |
A) Y-S 4B) T - T
(©) art - |l (D) @ - Higel
59 ‘Iud’ I w1 Gel 3 7
(A) HTHH (B) AT
) AR | (D) R

60. '@-@Wﬁﬁﬁﬁﬁaﬂwmm#%%mmmﬁ%mﬁ
FH-G1 FTA & ?

K) FE YTH (B) QW HiesT e
(C) TUA ATHT e (D) GHEG IdHH Hic]
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SECTION - II
LANGUAGE - I

All questions are compulsory.

31. Which of the following words is correctly spelt ?

(A) Vaccum
(B) Vaccuum

(C) Vaacum (D) Vacuum

32. The two kinds of reading skills are
(A) verbal and visual reading (B) slow and fast reading
(C) silent reading and reading aloud (D) all of these

33. Which of the following is a criterion for selection of a writing task to be given to
the students to develop their writing skills ?

(A) Interest of students (B) Level of the class
(C) Both (A) and (B) (D) None of these

34. Multimedia resources do not include
(A) Audio resources (B) Video resources
(C) Computers (D) Pens and pencils

35. Who has given the concept of Transformational Generative Grammar ?
(A) Edward Sapir (B) Roman Jakobson
(C) Noam Chomsky (D) Ferdinand de Saussure

36. Which one of the following skills uses praise words and approving statements to
motivate the students ?

(A) Response variation (B) Explaining skill

(C) Reinforcement (D) Lecturing

Passage ( For Q. Nos. 37-40 ) :

We all use roads. We walk on them or drive our vehicles on them. We go across them
or walk on the pavements along them. In cities there are footpaths or pavements along
the roads. Those who walk on them are called pedestrians. It is safe to use footpaths if
we are walking.
They are crowded with all kinds of vehicles like

Roads in big cities are very busy.
motor cycles, scooters, bicycles etc. Slow moving

buses, trucks, cars, three wheelers,
bullock carts, horse carriages, €tc. can also be seen there. Walking and driving on

77777 | WRHINARTA
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such roads is always very risky. People in a hurry

ignore the rules of the road anyg
injured in such accidents everyday. The beg,

cause accidents. A lot of people die or get

way to avoid accidents is to obey the rules of the road.

37. The synonym of ‘pavement’ is

(A) Road (B) Tralffic
(C) Footway (D) Walk

38. The antonym of ‘busy’ is
(A) occupied (B) idle
(C) tred (D) freedom

39. Find out the word from the passage that means, “The people who walk on a
pavement”.
(A) Bullock carts (B) 'Horse carriages
(C) Pedestrians (D) Vehicles

40. The verb form of the noun ‘driving’ is
(A) drive | (B) undnve
(C) driver (D) - none of these

Passage ( Q. Nos. 41-45 ) :

The folk dances of Rajasthan are invifing and engaging. They are bound to induce you
to tap a foot or two along with the dancers. Rajasthani dances are essentially folk
dances. Their origin is in rural customs and traditions. These traditional dances of
Rajasthan are absolutely colourful and lively. They have their own significance and
style. They are attractive and skilful. They are enjoyed by every age group. The people

of Rajasthan love their folk dances.
41. The words ‘inviting’ and ‘engaging’ are
(A) Nouns (B) Adverbs
(C) Adjectives I (D) Pronouns
42. The sentence, The people of Rajasthan love their folk dances” is in the
(A) Simple present tense (B) Present perfect tense
(C) Simple past tense (D) Past perfect tense

43. The word ‘Rajasthan’is a/an
(A) Common noun (B) Proper noun

(C) Collective noun (D) Abstract noun

77777 | IARINN
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Which on |
hl"l » ”f\ the following sequences has the three degrees of the adjectives in
their correct form ? |

44

(A)  Lavely, more lively, most liveliest
(B) Lively, livelier, liveliest

(C) Lively, more livelier, most lively
(D) Lively, more lively, hveliestly

45. Which of the following phrases has a determiner in it ?
(A) Customs and traditions

(B) Colourful and lively
(C) Attracuve and skilful

(D) The folk dances
46. The study of speech sounds is called

{‘!\] M{)rphology (B) Etymolugy
(C) Phonology (D) Chronology

47. The phonetic symbol for the underlined sound in the word ‘shy’ is

A (B) s
© tl (D) d3
48. Choose the correct phonetic transcription of the word ‘boy’ :
(A) /b3l/ (B) © /bdl/
(C) /bal/ () g/bol/
49. “The peon opened the gate.” The correct-passive transformation of the sentence
will be

(A) The gate will be opened by the peon
(B) The gate was opened by the peon

(C) The gate is opened by the peon

(D) The gate has been opened by the peon

50. Which question form is correct in its structure ?

(A) Do you go to college yesterday ? (B) Does you go to college yesterday ?
(C) Did you go to college yesterday ? (D) Did you go yesterday college ?

5l. Measurement is & process of .....2..ccuevisonis . evaluation.
(A) Qualitative (B) Quantitative
(C) Linear (D) Unitary

52. Choose the correct sequence of steps in managing classroom teaching :
(A) Controlling, planning, organising, leading
(B) Leading, organising, controlling, minding
(C) Organising, controlling, leaving alone, commanding

(D) Planning, organising, leading, controlling

77777 | IRNIFETN L
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The Language Laboratory is used for teaching
(A} Speaking skills B Listening skills
(C) Both (A) and (B) (D) None of thes€

Which of the following is not true of CCE ?

(A) It focuses on co-scholastic areas also

(B) It promotes holistic development

(C) Itis ttme consuming and punishing

(D) It reduces stress and anxiety of the students

. . , ioned to evaluat,. 1.
Evaluation of language proficiency is done through tests desig 3

which of the following skills ?

(A) Listening, Speaking, Reading and Writing

(B) Listening, Reading

(C) Speaking, Writing 32
(D) Wnting

Which of the following is not a principle of language teaching ?

(A) Principle of naturalness (B) Practice and drill

(C) Learning by doing (D) Copying and pasting

Multu-line approach consists of

(A) use of models

(B) reaching the same targét from difi‘erent directions and means

(C) selection and gradation

(D) all of these 3
Which of the following is true about the Grammar-cum-Translation method ?

(A) Mother tongue is used while teaching

(B) Form is more important than content

(C) Rote learning is encouraged

(D) All of these |
Which method is also known as the natural method of teaching English as
second language ?

(A) Substitution method (B) Bilingual method

(C) Grammar-Translation method (D) Direct method

Which of the following English teaching approaches is student-centered and
student-oriented ?

(A) Communicative approach (B) Situational approach

(C) Structural approach (D) All of these

Ff.5
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31, ‘o' 3w uTw faeimuenfy —

(A) I B) 3R
(€) ¥ (D) Y&

32. “ferfeyet sfereht St TE At R e gy deAras: wtawta —

(a) Torferent aferd e S B) fwiferarr anfershra qaaeh ==ria
(c) Foferem Tt qaieh 3aif D) fofersrt anfershar q&as Z2Td
33. aNEY WEWSeA A DI FEfT 2
(A)  HET FRTCHA (B)y - HTSUT BT
(€) TS HITe - S S A
34. S TG NAIH: T =1 F1fd, BEN: Weagd Aeld v TEi ?
(&) TR fSr: B)  ITHA-fTAA fafu:
(¢) F=g-sAfar faf: D) Sy fafy:
35. HEHAWNIRIEIURE @iash: FH: 3 —
(A) AT, 93, TEH, WISl (B)  WISUI, §{Ei, TS, TG
(C) %@, WI§U], 93, TG (D) U3, HEU], oI@, WAool
36,  TRTSUIITERTOTY Sae S Sy-fersore &: fagr @ifrad 2
(A) ThdT-GeHiTamEn: fagr: (B)  WIEHTeHe- 31T Teh: ST
(C) @rarfasharndr: [Hgrd: (D) TeArgEH fag
77777 | IO P.T.0.
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SECTION - III
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this section.

All questions are compulsory.

Bl. WILH .oiciionivnmnoaas students come to see the tests not as a punishment but as a
uscful feedback. The classmates work together for ‘common intellectual welfare”:
(A) Self evaluation B Group evaluation
(C) Peer evaluation (D) CCE evaluation

62. “What do you think about the two candidates in this election ?” This is an

example of

viA) Open ended question J4B) Closec ended question*
(C) Both (A) and (B) (D) None of these

63. Which test items consist of a stem, the correct answer, keyed alternative and
distractors ?

(A) Diagnostic test (B) Muluple choice test

&) Close test (D), Oral test

64. The remedial English classes are very helpful for the students who are

(A) below the age of 18 years <

AB] unable to achieve the required grades,
(C) poor and can’t get formal education.
(D) rich and can afford computer

65. Feedback 1s always

JA)  Summative (B) Formative
(C) Annual (D) Objective
66. ‘Petrarchan’is one of the categories of
(A) Ode (B) Elegy
4£C) Sonnet (D) Drama
67. The number of pure vowels is o -
(A) 9 . (B) 10 r\@
(C) 11 AD) 12 ®
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O8 p, L,k O s |, h, r[,-' are called

. II\“."J.II'Q .] u “"‘ ‘ L' I l‘q

(D) Impure vowels

((‘] P\-III‘ ‘-"“\'I'IS . d l
ound of the word :

ki , s % g - e |
09.  Choose the correct phonetic symbol for the underlined

Water
(A} /wot] / (B) /west/
Q) /wdita(r)/ (D) /wD/[ru:/
70. Find out the word which begins with different sound from other given words :
(A} Reach Q- & (B}Reap
(C) Rich Y ~ N3 (D) Read

71, “When to the sessions of sweet silent thought.”

Which literary device is used in the above line ?

M) Alliteration (B) Personification
(C)  Simile (D) Metaphor
72, What device is present in the line “If ought ol oaten stop or pastoral song” ?
(A)  Irony “1B) Assonance
(C) Paradox (D) Alliteration

73. “She was a phantom of delight.”

Which literary term is used here ?

(A) Elegy (B) Simile
AC)  Metaphor (D) Sonnet
74. “As green as emerald” is an example of
(A)  Allegory (B) Hyperbole
(C) Satire A4D)  Simile

7S5. “Peace hath_ her victories
No less renowned than war.”

What is personified in these lines ?

(A)  Victories (B) Renowned
v1C) Peace (D) Less
76. Which of the following contains the same vowel sound ?
_HA) Bite — kite — si?‘e (B) Bill — bell — ball

(C) Like — look — luck (D) See — say — sick

o (W (433
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77 The communicative approach in teaching of English has been practised and
developed in |

(A) India and China (B) India and Sri Lanka

D) France and Britain

Which one is a challenge in the process of teaching English language class ?
_AA) Less interesting teaching style (B)

(C) China and Japan
78.

More interesting teaching style

(C) Reasonable time management (D) Good lesson preparation

79. The excessive use of mother-tongue is

~TA) helpful in learning English «—
(B) a challenge to learning English «

(C) a substitute of learning English ~

(D) none of these

80. “The teaching material should be in accordance with the mental age and should

have relevance in real life situations.” The statement refers to

&) Principle of habit formation

'(B] Principle of selection

(C) Principle of gradation

(D) Principle of controlled vocabulary
81. “Two roads diverged in a yellow wgdod(™ (%

And sorry I could not travel both h

And looked down one as far as [ could 9

To where it bent in the undergrowth” h

The rhyme scheme of the above lines 1s

(A abaab (B) AAbaa
(C) ababa (D) Abbaa
B2, 1 commsmeesn give him an answer if he had asked me.
%TA) can (B) may
JAC) could (D) might.

83. Choose the alternative which best expresses the meaning of idiom / phrase
underlined in the sentence .

«I met him after a long time, but he gave me the cold shoulder.”

(A) Scolded me ' (B) Abused me
(C) Insulted me D) Ignored me

77777 | PT.0,
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N4 Which terary term refers to the problem or struggle witl
() Drama

in a story 7

(A) Confhet

e

(C) Action
R5 A ¢ | il
’ A form of drama that is intended to amuse and that ¢ nds happty
JH) Comedy

(D) Trony

(D) Chmax

(A Tragedy

(C) Biography
P“RH"R“ (For Q Nos. 86-90 ) .
Nalanpavat IS a traditional art practised in Kerala, Though claams of 1ts he avenly
ongin are disputable. toreign travellers mentioned Kalar being practised i Kerala g4
carly as the 13th century, which makes it the oldest martial art to be in t*{l*-ltnw

K-Illll‘l
can b IS ) * S
oy ¢ l'l"\ld{ H;d 1O h[‘ [h{" Mmost « Ulllll]{‘lt' HIHI H('H‘”“[H" l“ilf““l Hll :”Id l-. ”]f‘_

mother of | _ | _ .
- All martial arts, Bodhidharma, a Buddhist monk from India, introduced
alan into China .
} hina and Japan. What makes Kalari unique 1s the fact that |t 1S rmuh
more than ad mar 1 ¥
rartnal art. A student of Kalari learns philosophy, mullum, :l“ uk and

self defence g
i l‘(i 'S -
. above all, learns how to avoid confrontations, where he hd" lo attack
somebody or defend himself
86. A g . 2 % :
tudent of Kalari learns ... philosophy ................ attack and self
defence. ' '

F" p o y
Ul in the blanks with the help of giveh epltions :

(A neither — nor (B) th
,, 3] cither — or
AC)  not only — but also (D) as
87 o “ as — Aas
Kalaripayatt belongs to India ... Karate belongs to J
. | | Japan.
o “B) whereas
(D) when
88. Some pe l |
people sull ................ of Kalari’s heavenly origin
(A)  claimed —(ﬁ) . |
| laims
(C) claim C |
- . (D) were claiming,
............... ¢ oldest martjal art to be | ! |
| . ¢ In existence
AA) s |
B 4
(C) were A
» | (D) are
The most Suitable title for the passage is
(A) Drawing and p
amntin
o (X ’Tﬁ) Mother of aj Martial
Table Tennis (D) L s
awn Tennis
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64. S TGO T FMEM FHE WRAdFE T BE: REREGEABR IR
Tehedta ?
(A)  TITET O (B)  WIETRR XIET
(©) ferfa adte (D) fAemaTes aleT
65.  WTEHATanT PTETe: e aiq 2
(A) HUSIHERIT B)  GHENA SRR
(C) Toame TR (D) STATIEERRIA
66 TEtenEdged: gafadued e quEd —
11 B | & J—" faar 1"
(A) B) Al
(C) <™ (D) e
o NI (R
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67 gl den wfeg —
(A) 820 2 S
(C) 38 D) 48
68. “famren qrantaar arfem: 1" Aty ai e s -
(A) T SAF B) g oK
(C) ®E TR (D) @ FAHN
09. W E e @@ wyepg: arfey —
(A)  Faq B)  afd
(C) Hqy (D) ¥4

RAT: T FATF: |
fh AW e g e
e wae fai ||
70. TR’ e @ wEm Sl
A g B)  FEEE:
(C)  FHYRIHH: s |
71 T’ 399 [y arfes — SO
A (B)  Turgy:
y T—— (D)  fa@gfy:
72 TEA: 37T &+ gy Tqeh: 7
(A) ® g
TR (D) vge
73.  HIAl 377 & faute: sl )
(A)  FArEgEET - :
. %ﬁt{*qqﬂ (D) ﬂ?ﬁﬂmmqqﬁﬂ;
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STL-1 a7 [M]
2q AT TR fh I ?
A et B)  afergy
©) THHITHT D) AWty
g IULEHTAT TR FRY: qm fabmy -
(A)  Justa: (B) gl
©) Swa (D) a9
76. W1 WINT SAHIET Q1 AR e dy wiee wafg (0 3 & afesorfafs: ggw
wafd ?
(A) TR fat: B)  wcaet fafu:
(C) TSuEsh fafy: D) wveraER fafu:
-7 WINTAT: WHH m IRF —
(A) HINUTH (B) U3TH
(C) TEIH (D) &
78. U3HhIvTA Haid —
A) TER FrE AT B | ReE e
(C) IR Teilhotg-sd (D) v ferfoed sTaarom
70, ARFATHSHUTIUII STeiehid AdsrRTg forerer: faferse fenerol REfd, T AH
EL
A) TRmeES fafom (B) | ferefuny
(C) STARTHE fereqomy (D)  fabyd e
80. IcTehed HedTgH Wald —
(A) TY HIAHSHAH B) ¥ fgERH
(C) ¥ FaRH (D)  HddH
81. ' Wel =l oAl € | 3fd e WA $od —
(A) HH %ol Tad (B) Hel el Tad
L (©) TH e e (D) 3% el e
82. TIICTHMI ...cvennnenansens | e qigdq —
(A) J=: B) e
(C) HUS: D) T
77777 | ININININN 343 o
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83  a ¥t wafiy' apw A areufiada watd - r
(A) IR J&de gFId (B) HA qecteh TS
(C) W41 GE&dah1q garf (D)  HAl et ol

84. oM Wemagg - amio afta: s |t — |
(A) TR ufiq: aafor af (B) Wﬁqﬁ“mu&’
(C) TR alk@: af=nfor wf< o) A T e =

Afefaay amfad merieny smurteer faefgan: weAT: (85 - o Y T - :

?f'fmrmmw | 3T IRl Qe a3

ﬁmmmﬁ | YT =

H‘P’

feufy s g3 fasmae gerz 9 sdega | gid A W“*’ﬂﬂ"“mm
mﬁqﬁléﬂﬁ%ﬂﬁ%m Cafear: | HIAAE: ﬁ'ﬁfﬁﬁﬂm

CRNEES TATafastal wEeh: srEfAmm ug faered: 3o e %;

el S e Syt @ T FaReATEHe T HOM:

A) T B)  faedr
© N @)
86. ‘Tasmay’ we gfRy-fasae: wyofr —
A) TaFm= + 3w B) fagAd + U
(C) fasm + a9 (D) fasE + T
87. 'SXUNT:' T F: T 7
(A F + IR B) F + I
C) F+T . (D) P + ML
88. “‘UFIMFTHF oS fAfEar: | 3099 3 faviyomee favsaye fhe "7
(A) T (B ik |
(C)  3MTashRT: (D)  fafear:
89 'TUMIG T FHTGfaUE vafg —
(A)  VIPH_ ATy (B)  ¥h: 3TYMa:
(C) ¥Ih: |§HUHR (D)  ¥eh: g
90. "THIF HIFE: Uehld a9NFed Al oo MEgh" AR a1 areguey 3 -
(A) THa: B)  Hmfq
(C) TFA (D) dm
77777 (IR ET
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(B)
(D)

(B)
(D)

u]
el .75

Ji4  (A)

-/ (C)
?JLJ/(:JI_LVJ:.@)’&“’;LLLJu:; 76
S ? (A

PSS e 7 (C

Vb s LS W R Le e LiES Uty TT

3PS5
3P0

Bl

'-.-’:lfdt’%’—w);‘
J#13(C) .»I(B)

- L’U:IJL akf:f

by

(B)
(D)

(B)
(D)

(B)
(D)

3p4NA (A
3687 (O

e BPEREL_\F ey T8
2407 (A)
365270 (C)

¢ q_.l:'l?y/r'lﬁl,_lr'/ufgﬁu; 3PS 179
Sedze S (A)
Sledrte > (C)

{ égfﬁlfrjfu:gfjﬂﬂfﬂjzg{_uyg .80

(B)
(D)

oL (A
LELL=F (C)

2l _12L (85 ¢ 81) wuird £ S0y S I

L PSS e BFSoest 200 B b Ut s R e WL a2l 2B FE LIt Usf Y
A erd Il € r-:-quffyc)__lz::fu:/u'uw;,ﬁLuﬁ;g_tsf':/érwuu_wta:;/ﬁ
SO oL usplear e K bt bl Lic e Sy A5G 22l Vol
&S LTt ist s PSS mdl iU

SRS 25 (B)

77777 | [N

(D)

444

£ «;:._Jl/i_lzfc_c‘__ﬂlf‘l:/'/_guh‘Tdff 81
t:.h-_-*'ﬁ"’--Cf;. (A)
Ll Ll (C)
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P S Y

-: {B) . (A)
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Fo,7 (D) ek | (C)
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3 =i (D) " Gweds (C
UL U UM Koo AT Tt LTt .89
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34 91

92.

37

38

39

7277 (DA 444

4B) 2%72 % 3THEF + 2599 & 8 fawh

43 M|

SECTION - 1v / vz — v
MATHEMATICS ; TTfoTq

There are
are 30 questions in all in this section.

All questions are compulsory.

The non-termj ' | 9
minatng recurring number 0- 123 is equal to the fraction,

123
A 1000 (B =
) 333 _«14‘3; mg_
€] = 41 -3 =
300 _AD) v

anﬁnnﬁTanaaTzhan(}1251%ﬂanatfﬁﬁit

123
——— B T 3
1000 B) ==

, 37
- 41
T ———— D o e—
300 Pl ~536

The cost of 16 coins of 50 paise 1s equal to
(A) 4 consofRe. 1 + 3 coin; of Rs. 2
(B) 3 coins of Rs. 2 + 8 coins of 25 paise
(C) 3 coins of Rs. 2 + 6 coins of 25 paise
(D) 2 coins of Rs. 2 + 3 coins of Re. 1
50 TH % 16 f9FR! &1 gog e €

4 6 = g

(A) 13599 & 4 T9F6 + 2893 & 3 fqa
¢ 9

h <A

1

L
- .,‘ 0w ‘\(
(C) 2%9T & 3THEFh + 25 9H & 6 G

v 3 |
(D) 2FTT F 2 TaFF + 1 UT & 3 [Qah

Scanned by TapScanner




| @ 44

93.  The right descending order of the following nuim ers =3 f)

—

7 5
5 2 3 , 3 22
A 5713 B 130776
5 3 2 25 3
(C) 6'13'7 (D) 7'6"13
fre waan _2{,_]33_2@14%334?1113‘1%“3
Q\ Al S22 3 3 25
-Qg“‘ A) 677 %13 (B) 13'7'6
A\
(C) .El‘iz (D] 2 5 3
6'13’7 7'6'13

S
y s C
L%ThcvMucof_1g_(2§_43}13 | Gi— ¥ . S

S T\
\\{ 17 - O
otV o L 1B . 5 h
f\\% o / )30 : v
406 3 2 5 <4 18
5 -1-5-(2—3-— —)Eﬁrtrm% T
y i
\ ) = 9 g 'HQ’/L
p 10 (B) - 10 b = -#i:’ ’ﬂ
1 7 g
\’*:/5_ € -35 (D) :13—'5- i
v \’)( 1
-t 95. The greatest numb 1Vi 1
(\)D f . ir: er which divides 244 and 2052 such that it leaves remainder
(A) 12 (B) 16
| (C) 30720 (D) 15360
TS W T FE, Y 044 o zoszﬁﬁwﬁﬁmﬁmmﬁtﬂﬁrq4m
U B, 98 9 g
A
(A) 12 c B 16
(C) 30720 (D) 15360
77777 ||
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96. P takes loan of Rs 9,000 af the rate of simple inte

8 months, then tot

rest 85 % for 2 years and

al a .
mount to be returned by him will be

A) Rs. 2,040
( (B) Rs. 3,060

C Rs. 11,0
i *0 (D) Rs. 12,060

P 9,000 To T BT 8.5 o, WURT wq1e1 27 wx 2 A 8 W & o o, A I A
ferat T 99: Srery w2 -

JA 2,040 ®o (B) 3.060 B°

(C) 11,040 %o (D) 12.060 %o

97. A cylinder of height 4 cm is formed after folding ( without m;erlapping ) a

22 cm x 4 cm rectangular paper, then edrved surface area of this cylinder, 1S
2 °.
(A) 88 mcm (B) 88 cm

2
(C) 176 mcm? (D) 176 cm

T S T AT | 39 oA T THYS H &ARe & PR =
E>
(A) 88 n cm” » ol en”
2 2 ¥ sl B |
2
© 176 ncm? L 2 4,
T A5)
P.T.O.
77777 |V [444]  gnee
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@ 46 i O 1 OFE and Of .
J D = 25° then ZCop

98 In the gi\'ﬂn ﬁg‘url‘ lines AB ﬂnd CD arc inte ﬂﬂd f-r- EC
angle bisectors of .- BOD and . COB respectiv ely.
equal to
A
&
(A) 130° B) 65°
(C) 105° (D) 50°

\ > gfz{OEH‘EITOFEFEM;
ﬁ&@ﬁﬂﬁi@&ABWC&ﬁﬁomwmg'

. o - OFW%
_BOD A OB % wagyE & Ud 4§ LEOD = 257 T £C

(A) 130°
(C) 105° (D) 50°

99  Area of a square field is 6400 m2_ The distance travelled by a person, 1

5 rounds on its perimeter, 1S
(A) 320 m (B) 160 m
(C) 1-6 km (D) 32 km

(£) 16 km (D)  3-2 km v [(ACD

7777 | AN [434] o 80
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sTL-1

1 47
100. Time taken to fi

20 hitre /minute, g
(A) 9 minutes
(B) 1l hour 30 minutes

(C) 60 minutes

2 m

§ @M R _'10; 1§°© 2 __
(A) 9 92

- (B) 19U 30 fHAC
(C) 60 e

(DLzmésofqﬁZ

101. "Mathematics is the

A Bacon
A (B) Berthelot

® H
(C) ogben (D) Bertrand Russel

“Wwﬁwwﬁm%r'wm%mw ?

(A) S (B) FIA
JQ)  ETTEA (D) WIUE A
102. "The act of combining separate parts.” This method is called
(A)  Analytic Method (B) Synthetic Method
(C) Laboratory Method (D) Project Method

i

HAT-STATT 9T ht AT’ g8 fogra Fearar &

A) faversor fafy (B) Gyomur fafy

(C) T faty (D) RN fafy

77777 (NI 444 |

(D) 2 hours 30 minutes

xl'sm“lmm%waﬁﬁﬁwmmmﬁa/ﬁ%aﬁﬂﬁﬁm

X &©

M]

Cr tank of 8ize 2 m x 1.5 m x 1 m, by a tap with speed

mirror of civilization and culture.” This statement is said by

P.T.O.
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on
(A)  time and duration m
robl€
(B) the correct identification of causes of p
(C) knowledge of linguistic rules
(D) remedial teaching materials
ST forequy 3 Gaius Gherdl FTdl € -
kU
(A) TEE T FEy | B) T -
" g‘lﬂ"ff I L4
r - m&TUT
(C) g fgml & F9 W D) YA
- . - hematjCS .
104. Arrange in correct order the steps of evaluation 11 mat

1. Identification of situations

2. Selection of objectives

3. Selection of evaluation methods

4. Interpretations of evidences

5. Constructions ef évaluation devices
(A 2,1,3,5.4 B) 2,3.1,5,4
C] 2,3,5,4,1 (D) 3,2,4,5,1
T H Hediehd & QIO &1 Fal #H F4T0

1. uftfefaat &t wwe9E v

. > 4

2. Il FT T4

3. HodisA fatugr &1 934

4. WHIOT hl AT

S. Hodisd Warggr &1 a7

\/(A) 2! 11 3: 514 (B) 2' 3; 1, 5’4

(C) 2, 3, 5 4, 1 (D) 3’ 2, 4’ 5Ir 1

77777 | I IR
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105. A student wyg asked tq, ,
“ad the ¢
ol

306.40ﬁ,408,4020

He reads as follows -

{Al the S[ud{:n[
doe

5 . S not like Mmathg class and finds the class boring

€ student hag
P Understood the concept of place value and its use also

e

student ig not fit for study of math
dains

(D) the

student is not
S Not able tq Understand the concept of place value and feels

" .
ortable using two-digit Numbers only

mnﬁaﬁﬁmﬁﬁ%ﬁ%hﬂmw-
306, 406, 408, 4020

3T 3% 39 UFR gy -

(B) iﬂa=%szﬁaIﬂaEﬁrﬁaﬁﬂqraﬁ1nﬁnﬁhar%?wn:nmsr3wﬁrrd%

(C) 'aﬁtnﬁnai$1ammnﬁraﬂﬁwéfﬁnzanﬁiqéf% -

77777 |G P.T.O.
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@ 50 dred and one, is
106. The digit form of one crore one lac one thou sand on¢ BHE

(A) 11111101 B 10101101

(C) 10010101 (D) 11101001

T FT U g 0@ R 0 G v P A T

(A) 11111101 (B) 10101101

(C) 10010101 (D) 11101001

est value of Pis
107. If 31PS is multiple of 3, where Pis ten's digit, then the great

(A) 9 (B) 3
(C) 6 (D) S
H&':%%. 3 1 U ¥, W p qEE & 37 &, af P A oo e
A7) 9 (B) -3
(C) 6 (D) S 3
108. Value of 25+12 x33-25+5 is ;131. 3
. T,—)(\'L)(SS"S’ 1 3){
(g\c\x (A) 1216 B) 792
, 35 )
(C) 416 (D) 239% Ly
it
25+12 x33-25+5 ST A &
(A) 1216 (B) 79%
(C) 416 (D) 2391

S

109. The least number which is divisible by the numbers 1 to 10 is

(A) 1680 (B) 840
(C) 2520 (D) 5040
98 -Gl B 4 BI G & 1 1 | 10 dF St G&I31 q faursg & 2
-
h{i ) 1680 qﬁ%‘/ X(B) 840

(A 3 @ - (D) 5040
\1" W :. al

r7777 I numn/“/‘ff 356 :
N G 1
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51
10 Multiphication of place
| T O . values of 3,4 and 5 in the number 60321045 18 equal to
(A) 60
(B) 600000
(C) 60000
(D) 60000000
U1 60321045 [ 5 |
2293, 439 5 % g o HT TUATHA dE @
(A) 60 L T T
AN (B) 600000

111

112.

(C) 60000 6 ¢
| AD) 60000000

The difference bet
ween the greatest and the lowest prime numbers of two

digits 1s
™ _B) 86 ' _%f—]
(C) 89 ' L
(D) 95 )

X st W wad —— L1

| TS T TR DA 379y & § 3R € .
(A) 88 B) 86
If the cost of 12 dozen pens is Rs. 720, then the cost of 25 pens is
(A)  Rs. 1,500 (B) ' Rs. 150 @
(C) Rs. 125 i (D) Rs. 1,250 7?6“ ‘
i 12 T U1 | iy ‘-

T oA 720 ¥94 &, T 25 U H1 GoF @ WX VL
(A) 1,500 %o (B) 150 %o
_AC) 125 bo (D) 1,250 %o

113. The average weight of 5 students is 40 kg. If one student of weight 50 kg has left

them, then the average weight of remaining students is

(A) 50 kg | (B) 37-5kg
(C) 30 kg (D) 625 kg
77777 | IR (444 P.T.0.
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BTL-I
[M] |
| | a’rﬂﬂﬂ50i| b, B T
5 W1 W1 afRwet VR ao fem X af e @ o o1
R, AN @9 ol @ atwa W g 9%117 ¢
=0 <
§ il
(A) 50 kg (B 175 Kg \ }/,,Ll;‘
(€) 30 ke (D) 625 ke 31f‘l?:’;-st price of th,
. | | 30, then ¢
L14. If a product is sold on 10% profit at selling pricc Rl €
product is
(A)  Rs. 360 (B) Rs. 363
(C) Rs. 297 (D)  Rs. 300 s
&1 hd 7oA
& %] lO*VnWﬁfﬁﬂqmaaomq'{é'a"rﬂﬁﬁ% at 3 a4
\wor. - 4® (A) 360 o (B) 363 %°
/-.tx\‘b °©(C) 297 Fo ~+D) 300 o
S If equal part
115. In a school under 'shramdan’ camp, 12 students clean for 7 hours. o
ire
needs to be cleaned in 6 hours, then how many students will be requ
(A) 14 B) 12
(C) 16 (D) 15
ue faemers o ‘smeE’ fafer & ar=aia 12 81, ooy wET A & 1 A I @ am
6 U2 § WF HAT &, a [ oEl S AEvEHd el ? TQ'Eﬁ
€
—7A) 14 B) 12
(C) 16 (D) 15
116. How many bricks of measure 25 cm x 16 cm x 10 cm are required to make 3

wall of size 20 m long, 5 m high, 50 cm thick, while there are two doors of siz
2m x 1:5 m in the wall ?

(A) 11750 (B) 11000

(C) 117500 (D) 97500

77777 | I - [444]
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sTL-1
20 HX Fna},

53 @

'Equﬂ-T'?{ Wﬁzsﬁtﬁ

(A) 11750 o) c,;’)ﬂ/ @
11000
(C) 117500 ol 3’ gx10006
(D) 97500 7T x\1eX1o

117. In given figure OP| |Rs, <OPQ = 100° and ~ORS = 140°, then ZPQR is equal to

R 6 X =
140°
O —>— P J'f
100° ./g‘ X W"f" l@
25X LeX \b
¥ . § 2 A
(A) 80° B  60° WX# X 50 X 6 X (coX 0L
—— X WX Yo
(€) (D) __ 50° - )L Y0000
1§00
: C
fea ™ == ® op||Rs, ZOPQ = 100° 99T /@RS = 140° dl /POR SRT&IX 1T z2Yy95®
_ i
. G
1iid s
O >
(A) 80°
C) 70° (D) 50°

118. For multiplication of two decimal numbers, such as 0-4 x 02

0-08, an

appropriate teaching-learning tool to explain the concept 1s
(A) Dienes block (B) Number chart

(C) Counting star (abacus) (D)  Graph paper

77777 | WRNINEL P.T.O,
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(A)  BEHY st (B) Gl qre

(C) FHaRrT (srd%w) ] UTH TR

119. Which of the following represents 9, using tally marks i
A W W | B) M
(C) IH oy W Wi

)
ﬁmfeﬁwmm@ﬁmmﬁﬁmwquﬁ |

(A) W W B) W

./tf?) Wl m ., wmun

120. If monthly salary of a person is Rs. 24,000, central angle of the s¢€
the expenditure on education by pie-chart is 60°, then the expenditure on

ctor, showing

education is
(A) Rs. 4,000 (B) Rs. 8,000

(C) Rs. 3,000 (D) Rs. 6,000

UF Ak FT OGS dd9 24,000 o &1 ITF 6T W fFF =g F1 qE-92 W 90

aTe1 AS9@UE &7 H519 HI0 60° &, A ITHT (9187 T =77 &

\4\
8,000 %o Wﬁi}}x /EF

(A) 4,000 %o (B.)

(C) 3,000 %o (D) 6,000 To

77777 W I
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SECTION -y / mvg - V

There are 30 questions in all in this sectort:

All questions are rn|n|1tl|-"'“'.\"-

9 73Ue 1 el 30 W & |

AWt gy aqfqard

| Mount verest successfully

121. Who is the first woman of the world who climbec
from the Kangshung side ?
(A) Bachendri Pal (B) Santosh Yadav

(C) Premlata Agrawal (D)  Arunima Sinha

ﬁﬂﬁwﬁmﬁumqﬂammﬁm‘lﬁa@jﬁ

AR ?
. AA) CEEARSIS] B)  GdiE diqd
(C) UHA HUATA (D) arefamn 4=l

122. International Bio-diversity Day is celebrated on

(A) 21st May (B) 23rd May

(C) 22nd May (D) 24th May

ﬁﬂ{{@ﬂﬁa-ﬁﬁwmﬁﬂﬁﬁmm% ?

A) 217 B) 237
24 T3
) 227 (D)
[4;44] P.T.C).
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125.

56

Radio bmadraming in India started in the year

(A) 1926 B) 1927

(€) 1928 (D) 1929
WA ® eat wamor &) yeame faw ad gd 2

(A) 1926 (B) 1927

. (C) 1928 (D) 1929

Which disease is caused by the deficiency of Vitamin-A ?

(A)  Scurvy (B) ~ Nightblindness

(C) Rickets (D)  Beri-beri

faeifas-u &t &t @ FH-FT AT @A & ?
(A) That _B) Tart

c) R&zwm (D) S-SR

.

Which is the biggest planet of the solar system ?
(A) Jupiter (B) Saturn

(C) Uranus (D)  Neptune

77777 (BIININE
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(C) H{U

(D) T80

126. Principle of 'Specific to General' is used in
(A) Inductive method (B) Synthetic method

(C) Heuristic method (D)  Analytic method

fafere & =’ w01 o et o @ faaet 3TET A€ 2
—A)  FOTEF ey B) wversor fard

(C) d: v faiy -H"'“(ID) = e REIR

127 . Ranikhet_ disease is_ associated with

(A) Fishes | (B) Honeybees
(C) Hens (D)  Pigs
a1 fras et € 2

(A) STl Ap)  TyAEEEl
() D) W

128. The biotic components of environment are

(A) Plants (B) Mountains

(C) Fields ' (D)  Rivers

7777 |WBIIEIINA P.T.0.
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TR F N gow ¥

«(rﬂ/l qre (B) UeTs

(C) WM (D) Afeat
129, Disadvantage of deforestation is

(A) Increase in soil erosion

(B) Decrease in soil erosion

(C) Increase in number of wildlife

(D)  Increase in rain

TS T TSROy &

% T AR H gig

_AB) TR AYEA H HHI

(C) T Siid F=qait ot T H gfg

(D) a8 T gfg
130. Opium is obtained from

(A)  Papaver somniferum (B) Aloe vera

(C) Cinchona (D) Centella asiatica

AW fHEd U gt @ ?.
(A) 99TER GIFETOTH (B) T a7

) faasmT (D) T2 ThrafzeT
77777 | WIRIEIND
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31 when was Clean India Mission launched ?

A) 2nd October, 2013
( (B)  2nd October. 2014

C) 2nd October, 201
( S (D)  15th August, 2014

wmﬁmmmmw‘m?

2
(A) 2 AR, 2013 (B) 2 3=zal, 2014

(V7 2 AR, 2015 D)

1S AT, 2014

132. Match the following and choose the correct :

1) Malaria (a) Entamoeba histolytica

(1)  Amoebiasis (b) Mpycobacterium tuberculosis
(1) Tuberculosis (c) Plasmodium
(v)  Cholera (d)  Vibrio cholerae

A @) -() (1) -(a) () - (d)  (iv) - (b)

(B) (1) - () (11) - (b) () - (a (1v) - (d)

(C) M -(a) (i) - (b) () - (e fiv) Nd)

D) ) -()  @)-(a) i) - (B)  (iv) - (d)

frfeiiEa 1 gaferd S aun & &1 999 +

()  HARAT - g (@) woZHEn feweicigiest
\\ f_r___-——-——-.—' x

i) amfecfeg— %’ﬂ ARSINRINGH SEHATTd
(i) & AT — () TASHISIH
(v) & d) fafsar e

(A) (1) - (c) (1) - (a) (ii1) - (d) () - (b)

(B) (1) - (c) (11) - (b) (111) - (a) (v) - (d)

(C) () -(a) (11) - (b} (111) - (c) (iv) - (d)

pr - G)-@  @-b @)
77777 | BN IELNA [444]
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133. The house made of snow is known as

(A)  Igloo (B) Rain Basera

(C)  Green house (D) Basera

TE H I T W FEA

A 7] (B) rC ALl

(C) 'Rd g (D) S/

134.

. . : ymuirl
District of Rajasthan, which shares its boundary with maXi

districts in the state is

(A) Bhilwara (B) Ajmer

(C) Barmer (D)  Nagore

Wﬂﬁﬁw,ﬁiuﬂ%mhﬁimaﬁ@mwm%'?
(A)  HierareT _4B) TR

(C) dTEN (D) MR

135. The set of clothes which are worn without stitching is
(A)  Sar, Shirt, Cap (B) Turban, Sari, Kurta

(C) T-shirt, Lungi, Cap (D) Dhoti, Sari, Turban

FUSl FT e fa1 foet ggr siran 7, &

(A) W€, HEN, a9 (B) TS, WSH, Fal
(c) -, <, 2t D) e, e,
77777 | WU - [2a4]
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137. Who was the first
(A)  Kalpangs Chawla

(C) Rakesh Sharma

TAH QWA Hafrg ant w2
(A)  FATT TS

138. Which of the following forts
(A) Ranthambore fort

(C) Kumbhalgarh fort

777 | EHN

(D) Yeant

By w9

(D) 4z a7

Indian astronaut 7

(B) Sunita Williams
(D) Raja Cheri

4 7

(B) A TatAgi

(D) T 997

of Rajasthan is also known as ‘Chidiyatunk’ 7

(B) Mehrangarh fort

1.0,
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Water day is celebrated on
(A) 22nd May (B) 22nd SCplcmber
(C)  02nd February (D)  22nd March
5 feaw iy feq wamn e € 2
(A) 2273 B) 22 fga=r
(C) 02 ®IE AD) 229

Which of the following enzymes is present in saliva ?
(A) Pepsin (B) Trypsin

(C) Lactase (D) Ptyalin

frafafea o Q =9-891 TR GH A IR g 2
(A) ufE= B) fefemm

~,

(C) THRHT p) A

Following traffic sign indicates

-

(A) Cross road (B) Pedestrian crossing

(C) Railway crossing (D) Narrow bridge

77777 | (IR

STL-1
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SRR IRIE 5 e
mi’ﬁ?{m%
A R B) e o T
AC) T hifm (D)  E&HU gferar

% .
(A) Goga ji (B) Ramdev ji

(C)  Pabu ji (D) Bhomia ji

TS | 6| Saar =1 Sl &1 29ar’ & 9\ @ FErsTa & 2

.-r'"'_-__-‘:-

(A) T S (B)I S S

AAE) ITIELGﬁ | (D) fifgar it

143. 'The Wildlife Protection Act' was enforced in India in the year

(A) 1962 (B) 1972

(C) 1982 (D) 1992

URd | ‘T i Geror Ayt fhg oy ofmy ge 2

(A) 1962 (B) 1972 .-

(C) 1982 (D) 1992

sz | WDIINR

P.T.0.
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144, The organisation which publishes the 'Red Data Book'’ of sp€

STL-1
cies 18
(94 ICFRE (B) WWF

(C) ITUCN (D) UNEP

At wfeat ) Y3 2 g wahifera T €, 9% qeA @
(A) 3% ® U IR 3 B) T=Yg s=g UF

(C) 3¢ g W uA D) JFuAZ@

145. Who coined the term 'biodiversity' ?

(A) A. G. Tansley (B) E. Haeckel

(C) R. H. Whittaker | (D) W. G. Rosen

wa-fafayar (araterafad) v fha fear ar 2
(A) T, Y. TGt B) 3. &l

(C) 3. TH. %‘cﬂ?ﬂﬂ D) Ty, S T

III.

146. Select the festival \rom the following which is celebrated on the full moon of

Shravan :

(A)  Diwali (B) Holi

(C) Maha Shivaratri (D)  Raksha Bandhan
77777 | HIIELIUR
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Ffafaa & 30 e 35 wfo
A)  feameh
(C) W& foranfy
147.
(A)  Arnod — Pratapgarh
(B)

(D] Pushkar g AJ mer

P
148. State tree of Rajasthan is
(A) Khejari

(C) Peepal

TS T T I &
A T
(C) e
77777 | IEHE

(B) CEd &l @AT3T - FATE AT

(D) gﬁ.‘{-m

(B) Neem

(D) Amaltash

B)

(D) HAHAATI

P.T.O.

Scanned by TapScanner



STL-1
@] 60

149, Which of the following enzymes is
ipase
(A) Renin (B) Lipa

(C) Trypsin (D) Amylase

s N %?
ﬁﬂﬁ?{f@ﬂﬁﬁﬁqﬁmwmmmﬁﬁ?ﬁm
@A) (B)  ©EUH

) fefeum (D)  UHTECAS

150. National Aquatic Animal of India 1S

(A) Gangetic Dolphin (B) Whale

(C) Lion (D) Chinkara

RA T AL A Uil &

&) T SieET G

() I (D) fdréhm
ecceal || [T a4
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